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Ispitna knjižica 2 

 
25. Odgovor:____ 80 m _______ 

 

Postupak: 
 

mgh = Ek + ΔE         1 bod 
 
h= (Ek + ΔE)/mg = (4500 J + 3500 J)/(10 kg∙10 m s-2) = 80 m  1 bod 

 
 

 
26. Odgovor:___ 3,7 m s-2  ________ 

 

Postupak: 
 

2

M
g=G

R
         1 bod 

 

 






g
23

-11 -2 2

2 2
6

6,5 10  kg m
=6,67 10  N kg  m =3,7 

s3,4 10  m
    1 bod 

 

 
 

 
 



27. Odgovor:___ 5·10-3 m3 (5 L) ________ 

 
Postupak: 

 
W = p∙ ΔV          1 bod 
 

ΔV = W/p = 103 J / 2·105 Pa = 5·10-3 m3     1 bod 
 
 

28. Odgovor:____ Z = 500 Ω _______ 
 
Postupak: 

 

Z= R +R2 2
C         1 bod 

 

    Z=
2 2

300 Ω  + 400 Ω  500 Ω     1 bod  

   
 

 

29. Odgovor:____ f = 110 MHz_______ 
 

Postupak: 
 


f =

LC

1

2
        1 bod 

 




  
f = 6

-6 -12

1
 = 110 10  Hz = 110 MHz

2 0,6 10  H 3,5 10  F
  1 bod 

 
 

 

30. Odgovor:____ T = 2,5∙10-6 s = 2,5 μs _______ 
 
Postupak: 

 

0TT =
v
-
c

2

2
1

          1 bod 

 

 


T

-6
-6

2

2 10  s
= =2,5 10 s = 2,5 μs

1- 0,6
      1 bod 

 
 

 
 

 
 



31. Odgovor:_____ a = 2 m s-2 ______ 

 
Postupak: 

 
F = ma         1 bod 

 

F = m1g          1 bod 
 

m1g = (m1 + m2)a        1 bod 
 

a = 2 m s-2          1 bod 

 
 

 
32. Odgovor:____ 0,5 kg _______ 

 

Postupak: 
 

Q = mcΔT        1 bod  
 

ΔT = 40 K        1 bod 
 

Q = mvcvΔT + mAlcAlΔT      1 bod  

                          

      
Q-m c ΔT

m = =
c ΔT

Al Al
v

V

0,5 kg         1 bod 

 

       
 

33.  
33.1. Odgovor:_____ l = 0,8 m = 80 cm ______ 

 
Postupak: 

 

 Ui = Blv      1 bod 
 

 l = Ui/Bv = 0,08 V / (5∙10-3 T ∙ 20 m/s)  1 bod 
 

 l = 0,8 m = 80 cm     1 bod 

 
 

33.2.         1 bod 
 

 

 
 

 
 
 

 
 

+ 

– 



 

 
34. Odgovor:___ s = (2,3 ± 0,2) mm ________ 

 
Postupak: 
 

s 1 2 3 4s +s +s +s
=

4
     1 bod 

 

s=2,3 mm      1 bod 

 

 1Δs s smax = - =0,2 mm    1 bod 

 

  s Δsmaxs= ± = 2,3±0,2  mm    1 bod 

 

 

 

 

 

35. Odgovor:_____ S= 0,11 m2______ 

 
Postupak: 
 

maksT=C                                                       1bod 
    

T=500 K                                                       1bod 
   
 P=  σST4                                                              1bod 

     
S= 0,11 m2                                                1bod   

 


